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The figures in the right hand side margin indicate marks.
Candidates are required to give their answers in their own words as far as practicable.
1. Answer any five of the following questions: (2x5=10)
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a) What is uncertainty ?
S5l i
b) Distinguish between fixed cost and variable cost.
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c) What are the criteria of a good forecasting method ?
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d) Define optimum solution in Linear Programming .
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e) Write down the Cobb-Douglas production function.
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f) Whatisisoquant ?
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g) Define Nash equilibrium.
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h) Distinguish between economics and business economics.
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2. Answer any four of the following questions: (5x4=20)
a) What is aniso-cost line ? Discuss the features of iso-cost line ?
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b) What do you understand by decision making ? Discuss the different conditions of

decision making.
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c) Define Linear Programming. How linear programming can help in business decision
making ?
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d) What is saddle point ? Discuss the properties of saddle point.
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e) Explain briefly the Profit maximization hypothesis of a firm.
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f) Discuss about scope of Business economic.
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3. Answer any one of the following questions: (10x1=10)

a) State the Law of variable proportions. Derive TP, AP and MP curve with the help of
suitable diagram.
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b) Solve the following linear programming problem by the graphical method.
Min Z = 12X, + 20X,
Subject to
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